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Sl SAIHE T (&te: @2
i} _ HNE T =
2N -3 - c2(3H) - NEME - HES 0] Ao Ol & o8 Hl =2
S AICIXFQI It 7,335,579 16,802,408 A9,466,829
[= 750,000
Al 6,585,579
CANE(2EL X AL /R SL Al 6,317,007 15,570,176 A9,253, 169
[= 750,000
Al 5,567,007
CAHE ' 301,592 423,171 121,579
S AIHE 2e 63,430 343,730 A280,300
201 LEr2HH| 44,330 44,630 A300
01 AFRZt2lH] 44,330 44,630 A 300
SAIE S eI 50,0002 * 12& 600
OEZAAHEKAAEG FANF oY
702 * 5,00004 * 63 2,100
OZ A2 HE (CHFOUJAHAFFAE B
2,000,0008 * 2IHAL * 53] 20,000
OZAHEZH =2z E2H AdT7L(4M)
1,850,000 * 1HIE * 13| 1,850
OZAIHERAHZ 19,780
— 244 (J122) 70,0008 * 19 * 103 13,300
— 29 $E(ZWUE) 30,0008 * 198 x 43 2,280
— ZA 0| 70,0008 * 12 * 6H * 103 4,200
202 OfH] 2,100 2,100 0
01 2o 2,100 2,100 0
OEZAZHE &SeA
70,0008 * 22 * {5 2,100
203 YR = 17,000 17,000 0
03 AMMZ=XADFZY| 17,000 17,000 0
OB CHAIY =X 10,000,000 * 14l 10,000
O2ENLHELR =& 2,000,000 * 14l 2,000
OXSIHLAY =2 2,000,000 * 14l 2,000
OZ A LAY =& 3,000,000 * 1Al 3,000
SAIHE ol 238, 162 79,441 158,721
201 LEt2HH| 1,300 1,230 70
01 AFRZt2lH] 1,300 1,230 70
OFEALY SEUFSE MA
3,000€ * 20004 600
OBAZ2 £ XS MA ol
70 * 1,00004 * 10& 700
305 Hia=S 86,862 78,211 8,651
01 HHAZ2S 86,862 78,211 8,651
ORYIE2(ZT2AME2)XS (H=1H)
1,842,000 = 123 22,104
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HH: AN (RELX AL/ NALETA)
CI2l: TAlHEXE (CH9 &M
i} _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
ORYIEZ2(ZT2AER)NZ (BISF)
1,881,000 * 12 22,572
ORdIIE2(=2AE22)X2(01£3])
920,750 * 12& 11,049
ORHIEZ2(ZTZ2AR2E) K= (FAHE 170
) 50,0002 * 12& 600
OBH0IS2 (E2 A ) X 30,537
— 225} 186,000 * 13| 186
—2AIEQ 170l 1,919,960 * 129 23,040
-2z 397,700 * 129 4,773
— X7 211,50094 * 12€ 2,538
401 Al&HILLHY] 150,000 0 150,000
01 Al&H] 150,000 0 150,000
OZAHEEZZ HAULK HY 150,000
—EX0Y 150,000,000 * 14! 150,000
CADIBIEN 6,015,415 15,147,005 A9,131,590
[= 750,000
Al 5,265,415
CAHEE2MA 2,778,000 4,656,000 A 1,878,000
401 Al&HI LY 2,778,000 4,656,000 A 1,878,000
01 Al&H] 2,739,820 4,624,500 A 1,884,680
OYUW-IIENXNZ T2IHEZA
4,750,0002 = 80m * 0.98 372,400
O HUHISEOIIMES ATE2 JHA B A
1,875,000 * 80m * 0.99 148,500
OM2XYE BETIIT W SHEDA 1,485,000
—gsu 1,500,000,000& * 14l = 0.99 1,485,000
OftUSES HYS 29T 2 HEZA
2,000,0002 * 100m 200,000
OIES LAFXE =H T2 UI BDAHE
K24 420,0002 = 1,200m * 98/100 493,920
OE)| BAXNA & (E21-288)EAHEER2
WA B A 40,000,000 * 1Al 40,000
03 Al&=20HHI 38,180 31,500 6,680
OYAN-IIEDXHE T2IHAE 2 A
4,750,0002 * 80m * 0.02 7,600
OM2XYE HTIIE W SEZA 15,000
—g=ss 1,500,000,0002 = 14l = 0.01 15,000
OsteE Hg5 AT 2 HADA
2,000,000 * 100m * 0.02 4,000
O8N HYOHIES AYUE2 HEZA
1,875,000 * 80m * 0.01 1,500
OMNEE LAFTAH =H T2 X BAHE
X E4H) 420,000 * 1,200m = 2/100 10,080
CAHERALY =222 100,000 1,047,000 947,000
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_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
401 &6 20 100,000 1,047,000 947,000
01 Al&| 100,000 1,087,350 937,350
OADIXILY 215 21224 100,002 * 500m 50,000
OJE1S HAPT 47 AS F|
1,000,008 * 50m 50,000
ENERESS 1,100,000 4,276,440 ~3,176,440
207 ATl 100,000 0 100,000
01 HRgay| 100,000 0 100,000
OYZATAZR JI2H e+ B8
100,000,00021 * 14} 100,000
401 AE6IL 20 800,000 4,076,440 ~3,276,440
01 Al&| 794,240 4,063,480 ~3,269,240
O DYZEIIZ DS AL
200,000,00020 * 4744 * 99.28/100 794,240
03 Al&SCHY| 5,760 12,960 AT,200

200,000,000& * 444 = 0.72/100 5,760
402 QI2HRHE0IM 200,000 200,000 0
01 2ItXEE X 200,000 200,000 0
OFAIIE2 OS] A g
20,000,000& = 10JH0Ot= 200,000
SAZEAES2e 37,415 47,565 A 10,150
101 el H] 4,515 4,515 0
04 JIZHMIZ2XSE 4,515 4,515 0
ORSMFENY X4 SHRY oY
35,0008 » 3% * 33 315
O=2=0f 3&H =Y
5,000& = 10€ » 123 4,200
201 LEt=EH| 32,900 28,600 4,300
02 33234l 32,900 28,600 4,300
O=2= &JIe=2 500,000& = 123 6,000
O2=U &dot=ER= 300,000& = 123 3,600
Osds dlles 100,000& = 123 1,200
Ogtn & 32 Jt2s &dJIes
50,0008 » 128 » 1004 6,000
OFeHel M3 500,000& = 123 6,000
OZstHel &ot==L2= 300,000& * 128 3,600
O==U sXelul (=, JIAH)
3,000,000& » 14! 3,000
Ogtu & 33712 Jti2s FAl2cl
500,000 * 14! 500
SAMNFUHHALEE FX2e (FEBEM, D
S, SIEEES) 3,000,000 * 14 3,000
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St TAIDIBEY (s & &
- _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] AFCH @,;OH HunsZ
CAESMY(Z) 2,000,000 2,610,000 610,000
[ 750,000
Al 1,250,000
401 Al&H| L2 HY| 2,000,000 2,610,000 A610,000
[ 750,000
Al 1,250,000
01 Al&H] 1,968,000 2,556,200 588,200
OLI2DIM-BHDM S2IME ZAHHZ-58) EX
0H & 125,000 * 7,919.191m = 99/100 980,000
[ 250,000
Al 730,000
OstHN-BMHB2HEX T2 LY (53-265)
2,000,000 * 400m * 99/100 792,000
[= 400,000
Al 392,000
OB AA QTR STE (A2-15)
2,500,0002 * 80m * 98/100 196,000
[= 100,000
Al 96,000
03 Al2204Hl 32,000 53,800 21,800
OUSRIDI-tHDH S2IMEZ AL (H3-55)
125,000 = 16,000m = 1/100 20,000
Ot HID-MMZUSX T2 (Z3-265)
2,000,0002 * 400m = 1/100 8,000
OHAEA JNAE2 TR (A2-15)
2,500,000 * 80m * 2/100 4,000
HE35 BRE(ZEL XN IAML/KSEL A 620,050 4,550 615,500
HAFEE TATRE 620,050 4,550 615,500
K2l HEAAE DAY 120,050 4,550 115,500
201 LEt2HH| 120,050 4,550 115,500
01 AL 22IH] 4,550 4,550 0
OXNelEEAIAE E2H EHF L
200,0008 * 23| = 1CH 400
OXNeIEEAAE ZE2H A7
150,000 * 53| = 1CH 750
OXZIBEAAEH ZRIE(ZHEHRY
1,400,000 * 13| = 1CH 1,400
OEXOIZSHE &I DIKAM A Ol
500,000 * 13 500
OEXOISHE&CIR DALZE 2SI U3
T 100,000 * 23| 200
OEXOISHESCIR AU ZE 22ZEE
EHFY 200,000 * 43 800
OEXOIENH2E Qlgezd X7
500,000 * 13 500
02 2244l 115,500 0 115,500




SHT SACIK T
M M5 BRE(EUNANL/TAL A

el MAFES CAPH (et &
SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS

OXNCcIE2AAE SWE HW S
700,000,000& * 15/100 * 1.1 115,500

KNelHEAAEAZAIY (2) 500,000 0 500,000

401 A &HIL 204 500,000 0 500,000

01 Al&t| 490,000 0 490,000

OXeIEE AAE 2=AL (28HH) (20099 Al
Hl 0IRE2)

T oo

20,000,000& * 50km * 50/100 * 0.98 490,000
03 A2 R04bl 10,000 0 10,000
OXI2IEE AAE 2= AL (2E2) (20092 Al

Hl 0I2E=2)

20,000,008 * 50km * 50/100 * 0.02 10,000
B2 B(RELXAML/XALT Al 42,260 66,170 £23,910
Sozne Hyl 42,260 66,170 £23,910
302 My 42,260 66,170 £23,910
101 Q1248 10,920 5,880 5,040
04 JARZRIISES 0,920 5,880 5,040
OEwzIS Iy o
35,0008 * 2% * 72 « 128 5,880
OBDS AYH AEH & o=
35,0008 * 2% * 62 + 128 5,040
201 Ygr2g| 13,940 11,890 2,050
01 AtR2elt| 13,940 11,890 2,050
OZIE MYH 2E3 M
1,4002 * 3,00004 4,200
CEETINInE-E= 10020 * 1% * 5,0000H 500
OZDAX DIRM 4,008 * 80 * 23| 640
OEEHH X 502! * 2Z * 10,0000H 1,000
OMARI= 502 * 4% * 2,00004 400
OomIE MY 7Y (UM S)
500,008 * 14 500
OBISHY 4% K=
60,0002 * 5% 23] 600
OmnSMAANE HHLY
70,0008 * 5% * 63 2,100
OB %9 AN HbI 400,0002 * 10744 4,000
301 YBrEAZ 1,400 1,400 0
10 BAAHIE A2 1,400 1,400 0
OF ZDNSH &4 0iy|
70,0008 * 22 * 10% 1,400
307 2120l H 2,000 2,000 0
02 QIAAMBE 2,000 2,000 0
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Zy: g2 el (RELNSHL/NLLSAI)
ool 2BIE F| (ol &2
_ _ HE T
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 Sl ko HRE2
O BD20y EZH=
500,0008 * 4% * 13l 2,000
401 A EHIL 204 8,000 20,000 A 12,000
01 Al&H| 8,000 20,000 A 12,000
OB 49 HAIGH X (HF0ID %)
8,000,000 * 14] 8,000
402 SI2HKHE01H 6,000 25,000 A 19,000
01 QI EEX 6,000 25,000 A 19,000
OSSOWEXE HME X2
5,000,002 * 3JH4 * 40/100 6,000
HE2AHHI (S AICIAI D) (J1EH JIEH 108,210 377,512 A269,302
ol 2| 12,900 241,813 N228,913
ol 2EH| 12,900 241,813 N228,913
203 HRF4Hl 7,500 7,080 420
01 JI22FHRF4| 3,300 3,300 0
ONEP S 3,300
—JlE2gAREAY 3,300,008 * 1% 3,300
04 BEASSIHRFEHI 4,200 3,780 420
OSZ AICI AR 1t 4,200
—RA2E R4 350,000& = 12& 4,200
204 AP AH| 5,400 5,400 0
NIEEEEEREE 5,400 5,400 0
ONZ LAYl 5,400
X =a 350,000& = 1H « 128 4,200
— S AICIRFQI DFE 100,000& = 1" = 1228 1,200
Jl=&Hl 95,310 135,699 240,389
=l 95,310 135,699 40,389
201 Let2d| 20,130 26,199 26,069
01 AtE22/H] 20,130 26,199 26,069
OSAEN7L 13,000& * 21=A « 12&8 3,276
OEZ20HAHI 5,000+ 64lx 218 » 128 7,560
ogssag 100,0002 * 128 1,200
O4LE EM7YYI 50,000& = 12& 600
OAR@4AH| 8,470
—S A =2l 500,000& * 1.50H 750
—ZellH =cl 100,000& = 4CH = 50/100 200
—SAMI EH 200,000& = 53| * 1.504 1,500
—TEH £y 200,0008 * 53| * 4CH 4,000
—=Zag (2o EY
200,000& = 52 = 1CH 1,000
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Y LA (ZAICIACIDH) (DIEH/DIE

&2l Jl=&Hl (9 E2
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- S v o B ° . [EEMREECES &= 0:”/|l|,% Lsa
—PC==2l 100,000& * 219 = 20/100 420
—J|Et&E =2l 50,000& * 12& 600
OJIEt AR EZHI 5,000& = 21H = 123 1,260
OollaHE 2 22,366,000& * -10/100 A2,236
202 O4H| 75,180 109,500 A 34,320
01 =LA b 75,180 109,500 A34,320
OZAICIAI 0 HRFE K| 75,180
— 2L I 20,0002 * 12 = 2198 128 60,480
— 224yl 70,000& » 102 * 219Y 14,700
HRES(SAICIXHI N ZELXSENL /XSLT A 248,052 784,000 A535,948
LHEHH K& 248,052 784,000 A535,948
LHEHeHKIE 248,052 784,000 A535,948
701 JIEtHINES 248,052 784,000 A 535,948
01 JIEtRI A &= 248,052 784,000 A535,948
OFIIDIEY TAHEAE HANEY LAEE
AN HES 248,052,000& * 14 248,052




